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2.

5<a<bd, Jla-b?2- \/5-a2+ /(b-5?2< 7
st?

DO -2a+12 @—2a+2b ®0
@ 2a-12 ® 2b-12

B

a<boAXa-b<0

5<alA5-a<0

5<bolAb-5>0

(FolR A) =-(a-b)-{-6-a)} + (b-5)
=-a+b+5—-a+b-5
= —-2a+2b
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% 2] A4Q5 n o ofstel, \/5(n + 13) o] AL47} HES Sh g
o gre] e

O 69 @ 719 ® 89 @99 ® 109

. ~
10<n <100, /5(n+ 13) —» AAS

n+ 13 = 5k2

23 < 5k? < 113

4.6 <k <226

k=916

n=5x9-13=32, n=5x16-13 =67

wrebA] n 9] kel 92 32 + 67 = 99 ot




4. VISa 9 VFI—a BE A4} 952 ol ko] A4 q o] A4E?

o/l @17/ @27 @37H ® 4N

S8 ~
V48a = V24 x3xa--- @

52—-a=0,1, 4, 9, 16, 25, 49 --- @

@E W=E5= = 52, 51, 48, 43, 36, 27, 3

o] F @& wrEoh= A2 3, 27, 48




5. V192— V54— V108+ V24 EaV3+bhV6 B2 1A 0, a-b 9
Zhe F51H?

@ 1 @ 2 @3 @ 4 ® 5

B

V192 - V54 - V108 + V24
=8vV3-3V6-6V3+2V6
=2vV3- V6
La=2,b=-1
a-b=2-(-1)=3




@ V10— V45 + V40 = - V5 + 3V10
O V24+ VB4 + V27— Vi2=5V6+ V3
© VI8- V8+ V48— V12 = V2+2+3

3 28

@ %——%:‘/5—\/7

® V80— V2 —sz/ﬁ
V5

va.0 @06 G®oe ®oce

® 6,6

B

@ V10 - V45 4 V40
= V10-3+V5+ 210
=3vV10-3V5

© V24 + V54 + V27 - V12
=2vV6+3V6+3V3-2V3
=5v6+ V3

©® VI8- V8+ V48— V12
=3V2-2V2+4V3-23




7.

V45 + V80 -k V5 =0 & o, 25 ko F2?

@ 5 @ @ @ 8

3V +4V5-kV5=0
7V5 = k5
k=7
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oh T8elA A ALB,C,D £ B Aol C o ol
D o Wolgl 2 v, B 9 Wolt= € 9 wole] 2 v, A o] Hol:B ¢
wolol 2 vjel BA7E ek Ak A 9 Wolrk 4 cm?d W), D I
3 wle] Zoli?

A B
Clp
@ lcm @ %cm ﬁcm
NG V2
@ - @7(3111
(B2 Wel) = £ x (A2] Hel)
2
(] ¥1o) = 1 x (mel o) = (1) x(asl o)
(D] ‘ﬂO]):%X(CSq wol)
3
- (%) x (A%] Hol)

A 9] Yo]7l 4 cm? o] B2
(D] ol) = £ x4 =

webA] (D] Yol) = (3 o] Zo])2 — %(W)o]ﬂi

2

(3 #o] o) = — = Y2(cm) o]t

r




10.

[e]
O<a<1¥d, o35 3 7P & w27




11.

at e, be TR W, tha S I gl A Rl A2

D a+b @2 ® &b
b
@ ab ® %

Da=2b=-2 D, V2+(~V2) = 0 |2 f25o0]c.
®b= V3 AT, b2 =2 0|BE a2 - b2 £ fEFo]c,
@a=09 1), ab=0o|BE felolct,

Ga=2b= A1, VB _yolmz gaiol,
i
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13.

o

al

AT
D a-b>0 @ b-a<0
@ ab>0 @a+1>0

FAFab7ta=8-3,b=-VT+ B I s F &2
A

® b+ V7>3

a-b = \/5—3—(—\/74- \/§)
@ = V7-3
=V7-v9<0
La—-b<0
b-a=-VT+ V8- (V8-3)
@ =-V7+3
=V9-V7>0
o b—a>0
@ FHM)=b+ VT =-V7+ VB8+ V7= V8
($H)=3= 9
L b+ V7<3
@a=V8-3=V8-V9<0
b= V8- V7>0
soab <0
a+1=(V8-3)+1
® = V8-2
= V8- V4>0

La+1>0




ot St= REl4= a, b, cofl thoto] ? o] Zre9

o
filo
rd
BN
[e)

%x/§: Va, V135 =3vb, V2000 = c V5

v @vi 0: @ V5 O 6

A

%\/g: (1)2x8: \/§=‘/§=\/E

2
La=2
V135 = V33 x5=3V15=3Vh
b=15
V2000 = V202 x5 =20V5=c V5
soce=20

2ab 2X2x%x15
R = V3
c 20 v




15. /(5-2V5)2+ /(2V5 - 5)2 & 7beks] 8l a+ b V5 oItk frals
a 9t b ©] T2

O -4 @0 ® 3 @)6 ® 11

B

5>2450|2&

V(B -2V5)2 + 1/(2V5 - 5)?
=15-2V5|+12V5 - 5|
=5-2V5-(2V5-5)
=5-2vV5-2vV5+5
=10-4+5
Lat+b=10-4=6




